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(3 gliestion number 1 is compulsory
olve any three questions from the remaining oS

3) Figures to right indicate full marks R 2

4) Assur:ne suitable data if necessary.

5) Notations carry usual meaning.

Q.1 Attgmpt any four

A Derive basic conventional inventory,:
constant, S

B Solve the following L.P. proble
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‘pzé‘blem using Big-M method.
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The arrival rate of customers at a bankmg counter followré i*?% 5911
with a mean of 45 per hour. The service rate of the ceimtemc_ '
Poisson distribution with a mean of 60 per hour.

1) What is the probability of having 0 customer in tha
i) What is the probability of having 5 customers in ie

lii) What is the probability of having 10 customets in in
iv) Also find the number of customers in the systert

i . i : : % § ¥ I.
e AR Sy, il B, - % e TN R A .
RSP e Ry A Xi+Xi<10
£ I-’-\. Ao £ % ': a4 -:*\_, s:;‘ -‘.\% T - Fa - ‘F-\. LT a T l 2
] " 'ft.‘ f e, ¥ W ;-' S} e k M \H' i ) e ] b
o i My, M "1; " e I, S v A 7S AP,
o o~ % ..\_‘_h 3 B . ‘»._\1.-,,. = "'_""l..‘-' ] -\'.\. . ; : i . X )
oy s N o AT AR e (L L D + < >
-,H‘-' .-__?_Vi’ x\? ﬂ'ﬁ"! * “::""h..,"\-' " e " I;‘."v.--.‘ i L ﬁ_ & ,
\ | # # e e G 3 Mt S, T -(\ i’ o L ] —
B, i ¥ o w3 W g Ny . ) £ e
R B S NPT i ¢
My Y Foy A e W TR,
H 'I‘f’ b ik :'. . ."- {{ . x L '.Nﬁ - .H ‘-.\.“\' -
N PR by i ¥ ..“\ ¥ B . \\.._ d G ? = ‘}.'a- &
i L : ol " %:\ W ot g '-';A
LT o - '1:)'\‘ e, . :'"\-‘ r .;.:"" "’-‘:-\_ " \"_“"' : 'ﬁ;. ‘
e ¥ iy Ci b 3 i s s i 5 EaE, "
? ¢ J ot g ¥ % ' “'-_"'a F L2 u:" i ‘r'x ¥
W, A, i .l{\-. [ Sk X By (i P , -
@ - # w % 3 o Y
o P FE " S f..\."‘\; Moy # {\,,-— 1 "
| ..‘.:! {I\r} F e X . |1 LN ? ) \h 'ﬂ\"i ¥
; / ) 5 .. p
¥ * o N W N ey n ¥ e % Q“\\f b,(; ’
& by o o e - gl <
vy :f*— h _f"-'«{h =aiin Al | LTI N N -:"' .
- I'a,“' _-_‘. i s Vg 4, " s
N WA TN A . B a o c
"N s ' P ", | \'-\-;:]. ¢ Ul ¥ ot
- [ T g o L e £
Sl S g B ¥
Lm” - I ™. "5 a= 5 )}\ {;"""
! e Al SR aa Y Y
iy P S S I 2 o, s .;’ a'}r 3
N I S WS AP
4 r oY .-"'k_.‘h.-- .'.-"l e W, s / ‘.LSJ
LR L W N T
g T gl NG Twedia o - oy
"Wy ! e Tl T ™ Sy 2 o Ny
] '\|4 ., ¥ e Y b 'ﬁ.. Lt
b g . Y g " g v
A 3 Ay T e AT o N {4
P S Y, N N ow it VR O P
€2 0 N R T ey
T P, G i, Ly e
¥4 AT A E60CFC45F2172FDF02888C8F24A21EE0Q
v - PR e g AR
\_«‘-‘\Iﬁ e ,""?‘” P ¥
\ A _“. " ""“' .n;}" n“-\:\
L % A '_-‘g‘ '5\ 11.:' " ¥




B) A dairy firm wants to determine the quantity of butter it st

demand. Past records have shown the following patterns:
Quantity required No of day

Y
15

20
25
30
35
40
50
The stock levels are restricted to the m

Yo §

facilities. Butter costs Rs. 40 per- kg{'

Q.6 (A)

nals and other
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specially arranged lorry accommodating
80, 81, 76, 64, 43, 18, 26, 10, 12, 65, 68,

ﬁ-a

der requires a special roller bearing at the rate of  (10)

g costs the company Rs.36.The procurement cost
g cost have been calculated at Rs. 30 and 20 %
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